
1_ sf&df*F}+ dxfgu/kflnsf cGt{utsf of]hgfx?

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 h]i& gful/s ejg lgdf{)F, sf=d=kf= j*f g++ 29      5,000,000.00 

2 j*f sfof{no kl/;/df kfs{ lgdf{)F, sf=d=kf= j*f g++ 10      5,000,000.00 

3
dbge)*f/L sn]h %]p sf=d=kf= 29 / sf=d=kf= 10 hf]]*\g] dflg; cfjt hfjt ug]{ k'n -:^Ln 

^<; j[h_ lgdf{)F 
     1,000,000.00 

4 b'uf{ ljgfos dlGb/ lgdf{)F -qmdfut_, sf=d=kf= 11, jj/dxn      1,500,000.00 

5 u'x]Zj/L df=lj= ejg lgdf{)F sfo{ -qmdfut_, sf=d=kf= 11      2,000,000.00 

6 ljgfos uNnL Jns %fKg] sfo{, jj/dxn, sf=d=kf= 11      1,200,000.00 

7 ;fd'bflos ejg lgdf{)F, yfkfufp+, sf=d=kf= j*f g++ 10      1,000,000.00 

8 kg]? uNnL Jns %kfO{, sf=d=kf= 10      1,000,000.00 

9 %Ss' jSs' dlGb/ lh)ff]{$f/ tyf kfs{ lgdf{)F, sf=d=kf= 10      1,000,000.00 

10 >$f ejg lgdf{)F k+rs'df/L dfu{, sf=d=kf= 10      1,000,000.00 

11
j'^jn kfj/ sDkgL cufl* j*f g++ 10 / 11 hf]*\g] dflg; cfjt hfjt ug]{ k'n -:^Ln ^<; 

j[h_ lgdf{)F
     1,000,000.00 

12 ç ;fO{ s]Gb| ejg lgdf{)F, sf=d=kf= 31      3,000,000.00 

13 oft kf} ejg lgdf{)F, j*f g++ 31      4,520,000.00 

14 clDjsf dfu{ (nfg, sf=d=kf= 31      1,500,000.00 

15 *f+km]r/L dfu{ / o;sf ;xfos dfu{x?df Jns ljR\%\ofpg] sfo{, sf=d=kf= 31      2,000,000.00 

16 xg'dfg dfu{ Jns ljR%\ofpg] / (n lgdf{)F, sf=d=kf= 31      1,500,000.00 

17 hfu[lQ gu/ jf*{ g++ 31 / 9 hf]*\g] dflg; cfjt hfjt ug]{ k'n -:^Ln ^<; j[h_ lgdf{)F      1,500,000.00 

18 led;]guf]nf df=lj= ejg lgdf{)F, sf=d=kf= 31      3,000,000.00 

19 ljho d]df]l/on df=lj= rd]gf u[x lgdf{)F, sf=d=kf= 29      1,200,000.00 

20 j|Dx s'df/L /fhof]u ejg lgdf{)F, sf=d=kf= 10      1,000,000.00 

lgjf{rg If]q g+= 1 sf] hDdf      39,920,000.00 

21 u)f]z dlGb/ u}/L ufp+ ;fd'bflos ejg lgdf{)f, sf=d=kf= 9      1,500,000.00 

22 ?b|dtL wf]ljvf]nf k'n lgdf{)f, sf=d=kf= 9      1,500,000.00 

23 s'df/L dlGb/ s[ofk'qL ejg lgdf{)f, sf=d=kf= 9      1,000,000.00 

24 /fddlGb/ kvf{n lgdf{)f, sf=d=kf= 9      1,000,000.00 

25 vfg]kfgL cfof]hgf, sf=d=kf= 32

26 k'n -:^Ln ^<; j[h_ lgdf{)F, sf=d=kf= 32

lgjf{rg If]q g+= 2 sf] hDdf     10,000,000.00 

27 3 ;/:jtL gu/ ;fd'bflos ejg lgdf{)F, sf=d=kf= 6      2,000,000.00 

28 Zj]t e}/j dfu{df (n lgdf{)F, sf=d=kf= 1      1,000,000.00 

29 cw'/f] s'df/Lufn ;fd'bflos ejg lgdf{)F ;DkGg ug]{ sfo{, sf=d=kf= 7      1,500,000.00 

30 tfd|]Zj/ tyf ltnu+uf dlGb/ kl/;/ lgdf{)F tyf ;'wf/, sf=d=kf= 8      2,000,000.00 

31 wf]ljwf/f lqmofk'qL ejg tyf gf/fo)frf}/ kfs{ k"jf{wf/ ljsf; / ;'wf/, sf=d=kf= 30      1,900,000.00 

lgjf{rg If]q g++ 4 sf] hDdf      6,400,000.00 

32 /fgLjf/L ;fd'bflos ejg lgdf{)F, sf=d=kf= 3      1,000,000.00 

33 wf]ljvf]nf sf]l/*f]/df vfg]kfgL kfO{k lj:tf/, sf=d=kf= 4, ;'s]wf/f      3,200,000.00 

34 B] %]+ kmM ;Dkbfsf] k"jf{wf/ lgdf{)F / ljsf;, sf=d=kf= 5      3,000,000.00 

35 r'gb]jL ;fd'bflos ejg tyf dlGb/ k'glg{df{)f, sf=d=kf= 4      4,800,000.00 

lgjf{rg If]q g++ 5 sf] hDdf     12,000,000.00 

36 uf]u+j' cfjf; If]qsf] (n tyf ;*s lgdf{)F / dd{t;'wf/, sf=d=kf= 26      5,000,000.00 

37 c;g sdnfIfL -ef]^flx^Ldf (n lgdf{)F, sf=d=kf= 27      5,000,000.00 

38 dxf+sfn df=lj= ejg dd{t ;'wf/, sf=d=kf= 27      1,000,000.00 

39 eQmk'/ j;kfs{ b]lv k'/fgf] j*f sfof{no;Ddsf] (n lgdf{)F / ;*s ;'wf/, sf=d=kf= 28      2,000,000.00 

lgjf{rg If]q g++ 6 sf] hDdf      13,000,000.00 

40 ;*s jQL /fVg], sf=d=kf= 16,17,18 / 25 j*f      5,000,000.00 

41 j]vf uNnLdf Jns %fKg] / 5 j^f d+ufn dd{t ug]{, sf=d=kf= 16      2,420,000.00 

42 zflGt lzIff dlGb/ df=lj= ejg dd{t ug]{, sf=d=kf= 17      1,500,000.00 

lgjf{rg If]q g++ 7 sf] hDdf      8,920,000.00 

4

5

6

7

lhNnf ;dGjo ;ldltsf] sfof{no, sf&df*F}+

:yfgLo k"jf{wf/ ljsf; ;fem]bf/L sfo{qmd cGtu{t cf=j= 2075÷076 sf nflu :jLs[t of]hgfx?sf] :yfgLo txut ljj/)f

1

     5,000,000.00 

2



qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

43 dgdlt vf]nfsf] l/^]lgéjfn lgdf{)F, sf=d=kf= 13      5,000,000.00 

44 kfs{ lgdf{)F -*Nn' cfjf;, ljh]Zj/L ;/:jtL dlGb/ / rMdltdf_, sf=d=kf= 15      5,000,000.00 

45 tfxfrn r'ln clhdf dlGb/ kl/;/sf] k"jf{wf/ lgdf{)F, sf=d=kf= 13      1,500,000.00 

46 ;fj{hlgs hUuf ;+/If)F / kfs{ lgdf{)F rfun, sf=d=kf= 13      1,220,000.00 

47 ;fj{hlgs hUuf ;+/If)F / kfs{ lgdf{)F, k'/fgf] sflndf^L, sf=d=kf= 13      1,050,000.00 

48 d`h'>L jhf/sf] d}bfg kfs{ lgdf{)F, sf=d=kf= 15      2,500,000.00 

49 l;n)*f]n cGgk")f{ dlGb/ / ;*s lgdf{)F, sf=d=kf= 15      1,500,000.00 

50 *Nn' ('+u]wf/f ;+/If)F / rf}tf/f] k'glg{df{)F, sf=d=kf= 15      1,500,000.00 

51 %fpgL ;fj{hlgs hUuf ;+/If)F / kfs{ lgdf{)F, sf=d=kf= 15      1,000,000.00 

52 h]i& gful/s ejg lgdf{)F, sf=d=kf= 20      2,000,000.00 

53 ;fd'bflos ejg lgdf{)F, sf=d=kf= 19      2,000,000.00 

54 bkmt/ ;fd'bflos ejg lgdf{)F, sf=d=kf= 23      1,500,000.00 

55 gjxL rf]sdf kfs{ lgdf{)F, sf=d=kf= 23      1,000,000.00 

56 kfgL ^\of+sL lgdf{)F -O{^'Djxf / o^vfdf_, sf=d=kf= 24      3,500,000.00 

lgjf{rg If]q g++ 8 sf] hDdf     30,270,000.00 

57 jf;'sL bx jNv' vf]nfdf kfs{ lgdf{)F, sf=d=kf= j*f g++ 14      5,000,000.00 

58 ;+s^f dlGb/sf] ;+/If)f / k'g{lgdf{)Fsf] sf=d=kf= j*f g+= 22      1,000,000.00 

59 gjo'u :s"nsf] sIff sf]&fsf] k"jf{wf/ lgdf{)F Pj+ :t/f]GgtL, sf=d=kf= j*f g+= 21      1,000,000.00 

lgjf{rg If]q g++ 9 sf] hDdf      7,000,000.00 

s'n hDdf     129,510,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 sflQs] eGHofé jf]lemgL %fk ;*s lgdf{{)f tyf ;'wf/ -l^<k/ dfu{{_  j*f g+ -3      4,000,000.00 

2 hs]{ vf]nf k^fk l;rfO{ of]hgf j*f g+ 2      2,950,000.00 

3 e'jg]Zj/ :oféjf] ^f]n l;/fg^f]n jGb]jL lr;fkfgL ;*s lgdf{)f tyf ;'wf/ j*f g+ 4      2,000,000.00 

4 sfsL{ ufp+ hs]{ vfnf ;*s lgdf)f tyf ;'wf/ j*f g+ 2      1,000,000.00 

5 (sfn ufp+ ;fd'bflos ejg lgdf{)f tyf ;'wf/ j*f g+ 1      1,000,000.00 

6 PsLs[t gof+j:tL ;*s j*f g+ 7      1,000,000.00 

7 ;f+v' vfg]kfgL cfof]hgf j*f g+ 6,7      5,000,000.00 

8 efUof]bo :s"n ejg lgdf{)f tyf dd{t ;'wf/  j*f g+  6      1,000,000.00 

hDdf      17,950,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 tfdfé^f]n (n Joj:yfkg j*f g+  6      5,000,000.00 

2 g]kfn /fli^<o lgdf{)F df=lj= ejg lgdf{)f tyf dd{t ;'wf/ j*f g+ 6      1,970,000.00 

3 t]hljgfos df=lj= ejg lgdf{)f tyf dd{t ;'wf/ j*f g+ 8      5,000,000.00 

lgjf{rg If]q g+= 2 cGtu{tsf] hDdf     11,970,000.00 

4 k]df xf]O;ln~ u'Djf lgdf{)F tyf dd{t ;'wf/, sfu]]Zj/L dgf]x/f 1 ufun      1,000,000.00 

5 km'ofn ufp+ sfe|] k'jf/ ufp+ ;*s :t/f]GgtL, sfu]Zj/L dgf]x/f 2      2,000,000.00 

6 d^\ofu|/L (Ls - #f^]kf^L - jfudtL k'n ;*s dd{t ;'wf/ tyf :t/f]GgtL, sfu]Zj/L dgf]x/f 3      5,000,000.00 

7 ;ft#§] clwsf/L ufp+ ;*s ;'wf/ tyf lj:tf/, sfu]Zj/L dgf]x/f 1      3,000,000.00 

lgjf{rg If]q g+= 3 cGtu{tsf] hDdf      11,000,000.00 

s'n hDdf      22,970,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 uf]s)f]{Zj/ dlGb/ b]z] ;*sdf k'n lgdf{)F, uf]=g=kf= 4      5,000,000.00 

2 ;+;f/Lb]jL ;fd'bflos ejg cw'/f] of]hgf ;DkGg ug]{, uf]=g=kf= 1      1,000,000.00 

3 /fO{^f/ vfg]kfgL of]hgf, uf]=g=kf= 2       1,320,000.00 

4 uf]s)f{ kfvfyf]s ;*s cGtu{t Gof}kfg]^f]n psfnf] ;*s dd{t ;'wf/, uf]=g=kf= 2      2,500,000.00 

5 cfQ/v]n dlxnf ;dfh ;fd'bflos ejg lgdf{)F, uf]=g=kf= 8      3,600,000.00 

6 g]kfn dlxnf tyf jfn;]jf ;dfh ejg dd{t ;'wf/, uf]=g=kf= 8      1,500,000.00 

7 cfgGb gu/ -u)f]z dlGb/_ lqmofk'qL ejg lgdf{)f, uf]=g=kf=      1,500,000.00 

8 b'u{d ;]jf ;dfhsf] Xo]Ndf] sdf{ s'~ufjf] u'Djf lgdf{)f, dfsnjf/L uf]=g=kf=      2,500,000.00 
3

2_ z+v/fk'/ gu/kflnsf cGtu{tsf of]hgfx?

2

3_ sfu]Zj/L dgf]x/f gu/kflnsf cGtu{tsf of]hgfx?

2

3

4_ uf]s)f]{Zj/ gu/kflnsf cGtu{tsf of]hgfx?

8
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qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

9 ç zflGt cf?jf/L zfvf ;fd'bflos ejg lgdf{)F, uf]=g=kf= 9      1,000,000.00 

10 s[i)fdlGb/ s]zj e)*f/Lsf] #/b]lv xl/ofkmf+^ lkknjf]^;Dd ;*s lgdf{)F tyf ;'wf/, uf]=g=kf= 3      1,500,000.00 

11 tf/]le/ :s"n b]lv hos'df/ nfdfsf] #/ x'+b} ZofndtL ;*s lgdf{)F tyf ;'wf/, uf]=g=kf= 3      1,500,000.00 

12 k'hf/L^f]n ;*s sfnf]kq, uf]=g=kf= 6      1,500,000.00 

13 ;*s dd{t ;'wf/ uf]=g=kf= 5      2,500,000.00 

hDdf      26,920,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 ;'j)f{ zdz]/ lqms]^ :^]l*od lgdf{)F, j'=g=kf= 13      6,500,000.00 

2
uf]s)f]{Zj/ dxfb]j, hu*f]n, gf}lng eb|sfnL, r'lgv]n, gf}lné]Zj/L, lji)f' j'(fgLns)&, r)*]Zj/L 

dlGb/, ^f]vf wfld{s ;ls{^ cGt{utsf] ;*s dd{t ;'wf/
     2,000,000.00 

3 h]i& gful/s kfs{ lgdf{)F, jfn'jf vfgL l**\&frf}/, j'=g=kf= 10      5,000,000.00 

4 ~Uo'/ Hof~b]/ bf/u]ln~ u'Djf lgdf{)F, j'=g=kf= 1      1,000,000.00 

5 anjL/ dfu{ e++ufn ^f]n (n tyf ;*s lgdf{)F, j''=g=kf= 2      1,500,000.00 

6
xfQL uf}*f l:yt lqmofk'qL ejg tyf uf]Nkm' ljgfos lrN*<]g kfs{ ;'wf/ / k"jf{wf/ ljsf; ug]{ 

sfo{, j'=g=kf= 8
     2,000,000.00 

7 ;'Gb/j:tL leqL &f*F] jf^f] ;*s lgdf{)F tyf ?b|dtL ;*s lgdf{)F, j'=g=kf= 8      1,500,000.00 

8 s'df/L dfu{ tyf lqo'uf sf]ngL j*f sfof{no hfg] ;*s lgdf{)F, j'=g=kf= 9      3,000,000.00 

9 l;njfn^f]n tyf u}/L ufp+ leqL ;*sdf Jns %fKg] tyf (nfg ug]{ sfo{, j'=g=kf= 10      3,500,000.00 

10 l*&&\f rf}/ lkknjf]^ klZrd ;*s lgdf{)F tyf ;'wf/, j'=g=kf= 10      1,000,000.00 

11 l;$]Zj/ j]v^f]n tyf b]jL ld>sf] #/ hfg] ;*s tyf (n lgdf{)F, j'=g=kf= 10      1,500,000.00 

12 j+unfd'vL dlxnf ejg tyf o!dtL lqmofk'qL ejg lgdf{)F, j'=g=kf= 11      1,000,000.00 

13 j+unfd'vL dlGb/ kl/;/sf] k'glg{df{)F, j'=g=kf= 11      1,000,000.00 

14 s+rg s'jf pkef]Qmf ;ldlt ;*s lgdf{})F, j'=g=kf= 11      1,020,000.00 

15 ^'k]s u)F]z dlGb/ k'glg{df{)F, j'=g=kf= 13      1,000,000.00 

16 *<fug o'jf ;fd'bflos ejg lgdf{)F, j'=g=kf= 13      1,000,000.00 

lgjf{rg If]q g++ 4 sf] hDdf      33,520,000.00 

17 u}x|L ufp+ vfg]kfgL cfof]hgf, j'=g=kf= 3      1,000,000.00 

18 kfgrf]s ;fdb'flos xn lgdf{)f, j'=g=kf= 7      8,000,000.00 

19 *f+*fufp+ u'Djfb]lv lu|gEofnL ;Ddsf] ;*s :t/f]GgtL, j'=g=kf= 5      2,500,000.00 

lgjf{rg If]q g++ 5 sf] hDdf     11,500,000.00 

s'n hDdf     45,020,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 ltln~^f/ df=lj= ejgsf] k"jf{wf/ lgdf{)f, ^f]vf g=kf= j*f g++ 7      9,920,000.00 

2 gof+^f]n ;'wf/ ;ldlt, wg]Zj/ vfg]kfgL cfof]hgf ^f]vf g=kf= 3      5,000,000.00 

3 lbuf] jftfj/)f d}qL ;fd'bflos ejg ejg lgdf{)f, ^f]vf g=kf= j*f g++ 2      1,500,000.00 

lgjf{rg If]q g++ 5 sf] hDdf     16,420,000.00 

4 rf/tf/] ;fd'bflos ejgsf] lgdf{)f, ^f]=g=kf= 1      2,000,000.00 

5 ldng^f]ndf vfg]kfgL kfO{knfO{g lj:tf/, ^f]=g=kf= 8      1,000,000.00 

6 ;[hgzLn ^f]ndf l*kjf]l/é, ^f]]=g=kf= 9      2,500,000.00 

7 e)*f/L^f]n ç zflGt dfu{ :t/f]GgtL, ^f]=g=kf= 11      1,500,000.00 

lgjf{rg If]q g++ 6 sf] hDdf      7,000,000.00 

s'n hDdf      23,420,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 s'GrLKjfsn sfG%L^f/ ;*s dd{t tyf :t/f]GgtL, tf=g=kf= 1      2,000,000.00 

2 j;Gt sf]nf]gLsf] ;*ssf] dd{t tyf :t/f]GgtL, tf=g=iff= 2      2,000,000.00 

3 xn];L x'+b}+ hf]/u)f]z dfu{ :t/f]GgtL, tf=g=kf= 6      1,500,000.00 

4 yfkf^f]n xfplhé ;+ud kmf+^ km'^'édf vfg]kfgL kfO{knfO{g lj:tf/, tf=g=kf= 7      2,920,000.00 

5 k'/fgf] u)f]z dlGb/ x'+b}+ nfdju/sf] d'n ;*s lg:sg] ;*s ;'wf/ tyf :t/f]GgtL      1,500,000.00 

6

7_ tf/s]Zj/ gu/kflnsf cGtu{tsf of]hgfx?

6

3

5_ j'(fgLns)& gu/kflnsf cGtu{tsf of]hgfx?

4

5

6_ ^f]vf gu/kflnsf cGtu{tsf of]hgfx?

5



qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

6 vs{sf] kfvf]df kfs{ lgdf{)F, tf=g=kf= 8      1,000,000.00 

7 dgd}+h' dlGb/sf] k|fé)Fdf ('+uf tyf O{§f %fKg] sfo{, tf=g=kf= 9      2,500,000.00 

8 /fh^f]nsf] ;*s (nfg, tf=g=kf= 10      1,500,000.00 

9 rf/#/] ;*ssf] dd{t tyf :t/f]GgtL, tf=g=kf= 11      2,000,000.00 

10 zx/L :jf:Yo ejg lgdf{)F, tf=g=kf= 10      1,000,000.00 

11 wd{:ynL jhf/sf] vfg]kfgL ^\of+sLsf] dd{t ;+ef/ tyf *jnL lgdf{)F, tf=g=kf= 6      1,000,000.00 

12 e]*Luf]& s'+j/^f]nsf] ;*s dd{t tyf :t/f]GgtL, tf=g=kf= 2      1,000,000.00 

lgjf{rg If]q g+= 6 sf] hDdf     19,920,000.00 

13 lhtk'/ df=lj= ls;g*f]n x'|b}+ jf^f^f/ k'%f/#/;Dd jf^f] (nfg ug]{, tf=g=kf= j*f g++ 3      5,000,000.00 

14 cf&dfO{n *f+*f ufp+ Vofnj'Rrf hf]*\g] jf^f] (nfg ug]{, tf=g=kf= j*f g+= 3      1,000,000.00 

15 nId)f sf&]sf] #/b]lv lzj dlGb/;Ddsf] jf^f] (nfg ug]{, tf=g=kf= 3      1,000,000.00 

16 rf]ufp+ j:tLsf] ljr jf^f] (nfg ug]{, tf=g=kf= 3      1,000,000.00 

17 df%fk'R%|]^f]n b]lv gflugL vf]nfsf] sl/*f]/ jf^f] lgdf{)F ug]{, tf=g=kf= 4      2,000,000.00 

18 gfufh'{g ^f]n ;'wf/ ;ldltb]lv u'Djf;Dd hfg] jf^F] (nfg ug]{, tf=g=kf= 4      1,000,000.00 

19 sd]/f] vf]nfsf] %]p jf^f] lgdf{)F ug]{, tf=g=kf= 4      1,000,000.00 

20 j}v' kfgL km\ofS^<L t];f]{ jf^f] sfnf]kq] ug]{, tf=g=kf= 5      1,000,000.00 

21 jf]x/f^f/ b]lv e}/jkf^L x'+b} cfzfk'/L dxfb]j dlGb/;Dd (n lgdf{)F ug]{, tf=g=kf= 5      1,000,000.00 

22 km'ofnyf]ssf] psfnf] jf^f] (nfg ug]{, tf=g=kf= 5      3,000,000.00 

23
O{ nfO{j|]/Lsf] nflu k"jf{wf/ Joj:yfkg -sflnsfz/)f df=lj=, u'x]Zj/L df=lj=, gfufh'{g df=lj= / 

k[YjLgf/fo)f df=lj=_, tf=g=kf= 3,4,5
     2,000,000.00 

lgjf{rg If]q g++ 7 sf] hDdf     19,000,000.00 

s'n hDdf     38,920,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1
;fljs O{r+u'gf/fo)f j*f g++ 7,8,9 l;dfgfb]lv dfO{qmf] j; kfs{;Ddsf] ;*s sfnf]kq] ug]{, 

gf=g=kf= j*f g++ 1
     3,000,000.00 

2 krnL e}/j dlGb/ hfg] jf^f] l;+(L lgdf{)F ug]{, gf=g=kf= 1      1,000,000.00 

3 rf}tf/f] jf^f] (nfg tyf (n lgdf{)F ug]{, gf=g=kf= 2      2,000,000.00 

4 l;n)*f]n jf^f] sfnf]kq] ug]{, gf=g=kf= 2      2,000,000.00 

5 :joDe' rqmky b]lv O{r+u'gf/fo)f dlGb/ x'+b} /fdsf]^ led('+uf ;*s lj:tf/ ug]{ sfo{, gf=g=kf= 3      2,000,000.00 

6 l;tf jfn ljsf; cfwf/e"t ljBfno ef}lts k"jf{wf/ lgdf{)f Pj+ ;'wf/, gf=g=kf= 3      2,000,000.00 

hDdf     12,000,000.00 

7 j+unfd'vL dlGb/sf] l;dfgf ;*s lgdf{)F, gf=g=kf= j*f g+= 4 / 6      4,000,000.00 

8 cw'/f] vfg]kfgL \̂of+sL lgdf{)F, gf=g=kf= 6 -gf=g=kf= j*f g+= 4 sf] nflu vfg]kfgL ljt/)f ug{_      1,000,000.00 

9 cfb]Zj/ dxfb]j dlGb/ ;fj{hlgs hUuf ;+/If)f, gf=g=kf= 5      1,050,000.00 

10 kbd sf]ngLdf kfs{ lgdf{)F, gf=g=kf= 5      1,050,000.00 

11 k'tjf/ ufp+sf] ;*s lgdf{)f, gf=g=kf= 5      1,500,000.00 

12 j:ofn ^f]nsf] ;*s lgdf{)F, gf=g=kf= 5      1,050,000.00 

lgjf{rg If]q g++ 8 sf] hDdf      9,650,000.00 

13 kfv'/]sf] rf}tf/f] ;+/If)F Pj+ lgdf{)F, gf=g=kf= j*f g++ 8      1,000,000.00 

14 ;]tf]#/b]lv rf}/fxf wf/f;Ddsf] ;*s :t/f]GgtL gf=g=kf= 8      2,000,000.00 

15 >]i&^f]ndf jf^f] (nfg / (n lgdf{)F, gf=g=kf= j*f g++ 6      1,500,000.00 

16 l;$]Zj/ dlGb/af^ xfs]sf] rf}tf/f];Ddsf] ;*s, gf=g=kf= 6      2,000,000.00 

17 j}/]gL^f]n vfg]kfgL cfof]hgf, gf=g=kf= j*f g++ 7      4,000,000.00 

18 ;f]tLufp+ s'df/L dlGb/ ;+/If)F, gf=g=kf= 7      1,000,000.00 

19 ;fd'bflos ejg k'glg{df{)F -k+rsGof :s"n;+u}_, gf=g=kf= 7      2,000,000.00 

lgjf{rg If]q g++ 9 sf] hDdf     13,500,000.00 

s'n hDdf     35,150,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 Eo"^fj/ lgdf{)f -sfn' kf)*]sf] ;dflw:yn_, r=g=kf= j*f g++ 1      5,000,000.00 

2 jgyf]s^f]ndf Jns %fKg] sfo{, r=g=kf= j*f g++ 14      3,000,000.00 

3 uf]s'nkf^L b]lv #f/L uf+p;Ddsf] ;*s, r=g=kf= j*f g++ 12      2,000,000.00 

4 bDj'^f]ndf ePsf] jf^f] (nfg, r=g=kf= j*f g+= 12      1,000,000.00 

5 d'lvof ufp+sf] s'jf hfg] jf^f] lgdf{)F / s'jf ;+/If)f, r=g=kf= 12      1,000,000.00 

6 efN^f/ vfg]kfgL cfof]hgf, r=g=kf= j*f g+= 13 -;fljs 7 / 8_      4,000,000.00 

8
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9_ rGb|flu/L gu/kflnsf cGtu{tsf of]hgfx?
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7

8_ gfufh'{g gu/kflnsf cGtu{tsf of]hgfx?
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qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

7 lji)f'b]jL dlGb/ kl/;/df k"jf{wf/ lgdf{)F ;'wf/ / jNv' vf]nf ;+/If)F, r=g=kf= j*f g+= 15      2,420,000.00 

8 >Ls[i)f df=lj=sf] cw'/f] k"jf{wf/ lgdf{)F, bxrf]s, r=g=kf= j*f g++ 1      1,000,000.00 

hDdf     19,420,000.00 

9 ^f}v]n Ejo%] lgdf{)F, rGb|flu/L g=kf= 9      1,500,000.00 

10 dftftLy{ (fS;L u'Djf lgdf{)F, rGb|flu/L j*f g++ 8      1,990,000.00 

11 10 g++ oftfoft sfof{no dftftLy{ x'+b} sGrg u]^;Dd jf^f] :t/f]GgtL, r=g=kf= 5 / 8      3,000,000.00 

12 ;fgf] u)f]z dlGb/ l;Drf lkknjf]^ ;*s ;'wf/ tyf :t/f]GgtL\, r=g=kf= 10      2,000,000.00 

13 ejd'Qm]Zj/ dxfb]j dlGb/ lgdf{)F, r=g=kf= 2      1,500,000.00 

hDdf      9,990,000.00 

s'n hDdf     29,410,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1
h]i&gful/s ;]jf s]Gb| ejg lgdf{)F / ejg hfg] hfvf x'+b} eTs]sf] kf^L;Dd jf^f] ;'wf/, 

ls=g=kf= j*f g+= 5
     6,950,000.00 

2 ;f]x|v'§]kf^L / kfs{ lgdf{)F, ls=g=kf= 9      1,990,000.00 

3 ç zflGt ejg lgdf{)F, ls=g=kf= 7      1,000,000.00 

4 ;femf ejg lh)ff]{$f/ tyf ^<; lgdf{)F, ls=g=kf= 3      1,000,000.00 

5 rf]ef/ s^'jfn ufp+ ;*s d+h'>L kfs{, ls=g=kf= 6      1,990,000.00 

6 tMggL bfkmf vnM ;fj{hlgs ejg lgdf{)f, ls=g=kf= 9      1,000,000.00 

7 l*k jf]l/é ^\of+sL lgdf{)F, ls=g=kf= 8      1,000,000.00 

8 u%] bfkmf vnM ejg lgdf{)F, ls=g=kf= 2      1,000,000.00 

9 ejd'Qm]Zj/ dlGb/, yfkfufp+, ls=g=kf= 6      1,000,000.00 

s'n hDdf     16,930,000.00 

qm=;+= lg=If]=g++ of]hgfsf] gfd /sd ?=

1 jnfdL ufp+ vfkf{ ;*s lgdf{)F, b=g=kf= 9      5,000,000.00 

2 %}dn] vfg]kfgL of]hgf, blIf)fsfnL eQ]/] rf}/, b=g=kf= 8      2,000,000.00 

3 jf+;jf/L j[xQ vfg]kfgL of]hgf, b=g=kf= 4      2,000,000.00 

4 *Nn' tfdfé ;d'bfo ejg, b=g=kf= 5      1,000,000.00 

5 k'?iff]]Qd gf/fo)f, uf]/ u)f]z dlGb/ lh)ff]{$f/ tyf kl/;/ ('+uf %kfO{, b=g=kf= 6      2,000,000.00 

6 rfNgfv]n gof+j:tL ;*s lgdf{)F, b=g=kf= 1      1,000,000.00 

hDdf     13,000,000.00 

399,200,000.00    

800,000.00       

400,000,000.00    
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10

:yfgLo k"jf{wf/ ljsf; ;fem]bf/L sfo{qmd cGt{ut ljsf; cfof]hgfsf] nflu ljlgof]lht /sd ?=

lh=;=;=sf] nflu k|zf;lgs vr{ -0=2 k|ltztn] x'g] /sd_

s'n :yfgLo k"jf{wf/ ljsf; ;fem]bf/L sfo{qmdsf nflu k|fKt /sd ?=

9

10

10_ sLlt{k'/ gu/kflnsf cGtu{tsf of]hgfx?


